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Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any five questions: 1x5=5

(T (I 2H1ofS 2o Teg s ¢

1)  Give example of a singular proposition.
=l 2 o Sigsel i |

11)  What is the probability of getting 6 in the toss
of a fair dice?
@3 1o FJcei gD leTeet v 2ee Ayl F© ?

1ii)) How many categorical proposition are there,
according to quantity? What are they?
ATl SIAICE TR oo TG 93 F R 2

1v) How many experimental methods are there,

according to Mill?

G ER AR Bl R PO TIITR?
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Vi)

vii)

viii)

2.  Answer any ten questions:

Express p D q in terms of '~'and '".
PDOQ-F'~" QR "' I G FCA |

If p is true and q is false, then what will be the
truth value of the following?

T p o7 =W @R q fnt =3 e faFffas
NP ST F 22

~p>(~qvp)

What will be the negation of a tautologous
statement?

GFTb FOLTG] A6 K T F 21 A2
Translate the following sentence into a

standard propositional form:

RIS TR S 5 e T ¢
There are white elephants.
Al RIS ez |

2x10=20

@I i &ed Ted wie ¢

i)

ii)

iif)
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Give an example of a constructive Dilemma.
@35 =193 fas TR 13 Wie |
Distinguish between the remote cause and the

proximate cause of an event.

I GG Ao RS el € YFE] FIACE
ey AL |

Is it possible to have a valid substitution of an

invalid form? Explain with example.
CPICT GBfG SC4 BP0 (34 i ~hezl
G 2 CWIRFe FREAA! I 4 |
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Distinguish between good analogy and bad
analogy.

e T @ I NI S0 AL A |

What is the probability of getting total number
'3' in the toss of two fair dices at a time?

uib 4 FCCIR YO G BT CoiRE AR
B ‘o’ REF AT F© ?

What is meant by the fallacy of denying the

antecedent? Give Example.
S| TR TS (1 96700 F (@RI 2 Trizge wis |

What is meant by exclusive sense of the word

'or'? Give example.
et sl sigar *Rifba el it et 1 §Bieed
Terd Al
Why is FESAPO not regarded as valid by the
modern logicians?
wiyfe gfeReer @ FESAPO-E (34 I
R A 1 2
Write the schematic form of the method of
difference.
TIOCHR 2Mlos ALCHFoT T =0 |
Express the following in Venn diagram:
SIteA AT (S ora &p el ¢

There is no unicorn

BTl (12|

Distinguish between sufficient and necessary

condition.
21 @ SARTF Mo [&y 2N |
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Xii)

xiii)

X1v)

XV)

XV1)

What is enthymeme? Explain with example.
SRR TR I A 2 (RIS WG |
What is truth functional compound?
SOPICorE (JN{o1F I e 2
What is complementary class?
Afoe @A Fle
If So (PvQ) is false then determine the truth
value of the following:
[s+(PvQ)]=[(s-P)v(5-Q)]
I S (PvQ) e =3 o,
(5P v Q)] =[() (5Q)]
49 el 72

Give the converse of the obverse of the

following:
fxferiie et RafSrea wikfEe et wie ¢

No S is non-P
I ST 9P |

3.  Answer any five questions: 6x5=30

@I #Aivis aria e 11 ¢

i)
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Calculate the probability: 3+3

Ayl e el 2

a)  Whatis the probability of getting at most
one tail in the three tosses of a coin?

G I ST W] FAET S & G
(Be1 T HGITO] F© ?



iii)

37(A)NS

b)  What is the probability of rolling three
dices so that the total number of points
that appear on their top faces is 3?

feafS e 46w wiv et et T i
s @iorest for veae el o ¢
Distinguish between scientific and
unscientific explanation.
(eI @ Sraes|feis AR [ AL FE |
What is Adhoc hypothesis? Explain with
example.
AN ((IC) 253 FICSF A GBI 1 FC |

Use truth table to determine whether the
following statement forms are tautology, self-

contradictory or contingent: 3+3
STPARER AR e a1 Fferiie apamefe
FOL), FIRCAIA S Wi &l 2

a) ~[(p2q)>(~q>~p)]

b  (p2aq)=[(pva)=q]

Test the validity of the following arguments

by Venn Diagram: 3+3
cedfbad MRy ke yfeuln el [eE
A8
a)  No one present is out of work.

No member are absent.

Therefore, all members are employed.
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Vi)

vii)

viii)

Toifze IfEma (8 I 77 |

I ST S =3 |

SR e P T Gl (7 |
b) BRAMANTIP
What is meant by paradoxes of material
implication?
TS efesifen FHISP 0 F (R 2
Distinguish between logical Equivalence and
Material Equivalence with example.
TEGZ (TG AT € IS SN 0 AL
R

Distinguish between traditional logicians and
modern logician regarding opposition of

proposition.
W Reaifeel rw dibe e ¢ a3
etz sy Ty e S|
4.  Answer any three questions: 15%x3=45
-l Forfs as T e ¢
1) a) Explain Mill's method of concomitant
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variation.

RIteTa T2oifRaen siafe iy e |
b)  What is its special importance? Explain.

3 Amfeq R wwg 2 PRI 4|
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Prove the invalidity of the following by
assigning truth value :
e Al 8
a)  (3x)(MxeNx)
(EIX) (Mx-OX)
(x)(OX ) Nx)
b)  Only students are members.
Only members are welcome.
Therefore, all students are welcome.
(TG G T |
(TG FAHE o |
oA, e B2 TS |
c) Symbolize the following using quantifier,

variable etc.

fefafre aFeflas e, awF 2oriv
R I3 ef eIl T ¢

I)  Any tall man is attractive if he is

dark and handsome.

QI Tl g 2 AR W G

I 9% (e 23 |

II) A boxer who wins if and only if he

is lucky is not skillful.

GG FREANT (A GRS (7 I @R

(< AM (1 SlolaI 23, 83 S |
What is hypothesis? Explain the different
criteria for evaluating an hypothesis.
2% FIE A2 &F PR [foq Aameef
HCTIOA FCAT |
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Construct a formal proof of validity for each
of the following: 5%3

ffeiie gfeafem Simmere (@ast 510w Tt ¢
a) Jv(~JK)
JoL
/o (Led)=]
b) CoB/..DDD
c) (HDP)(SoW)
/. (HeS) D (P+W)
Construct a formal proof of validity for each

of the following: 5%3
fffie gfeufem simmars @t 10w 3t ¢

a) (x)(Qx DRx)
(3x)(Qx v Rx)
(EIX)RX

b) (x)[Bx S (Ix D WX):'
(x)[Bx D (Wx D IX):'

(x){BX D [(Ix \ WX) D (Ix-WX)]}

¢) Socrates is mortal.
Therefore, everything is either mortal or
not mortal.

Ao & Tl |
Ao, AFa Fg 7 TAAT w7 T
SR |



